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st = (A) (B) (A-8
+gl 44,500,000 37,300,000 7,200,000
1.HE 43,200,000 36,000,000 7,200,000
43,200,000 36,000,000 7,200,000 E:E ?gggggggi:;ggggig
2.949jQ40l 1,300,000 1,300,000 -
300,000 300,000 - : 3008
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NE=LHEXE 44,800,000 36,500,000 8,300,000
1.MEme - -
IREE - - -
2.0 AHH|IX|&H 15,000,000 33,000,000 18,000,000
|1.§O1 15,000,000 33,000,000 18,000,000|- =2 )& 22| X+ o1HH| : 2,500 +6IHE*1H=15,000& &
.M ZEHI K= 7,200,000 = 7,200,000
1. W=RSaE| 1,200,000 - 1,200,000 |- nSE3U(SZ S) : 3008 &*43|=1,200& &
2. &l 6,000,000 - 6,000,000 (- &HHI(HEI=HZ & JHgHl S) : 1,5008 &*435|=6,000& &
4, THoHH 222l ] 7,200,000 3,000,000 4,200,000
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